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1) x>+ 2x-24
(x + 6)(x-4)
2)y" + 3y-10
(v +9)(y-2)
3) x>+ 29x + 100
(x +4)(x + 25)
A)w'-6w + 8
(w-2)(w-4)
5)-10g + ¢° + 21
(q-7)(q-3)
6) y* + 20y + 100
(y + 10)
7)a* + 5a + 6
(a + 2)(a+ 3)
8)w’-9w- 10
(w-10)(w+ 1)
9) x* + x - 30

(x +6)(y - 5)
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10) 13y + 30 + y*
(y + 3)(y + 10)
1) w’+ 11w + 18
(w + 2)(w + 9)

12)t-t-90
(t-10)(t+9)

13) f + 22f + 21
f+ D+ 21)

14)h*-h-72
(h-9)(h + 8)

15)m*-18m + 81
(m - 9)’
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16) x>+ x-72
x+9),x-8)

17) x*-8x-9
x-9),x+1)

18) x* + 2x - 48
(x+8),(x-06)
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19) 3x’y + 18x%y - 21xy
3xy(x + 7)(x - 1)

20) 2x° - 2x* - 4x
2x(x -2)(x + 1)

21) 2x° - 4x° - 6x
2x(x-3)(x+ 1)

22) 5x°y - 35X’y + 50xy
bxy(x - 5)(x - 2)

23) 3x° + 12x* + 9x
3x(x + 3)(x+ 1)

24) 4x° - 8x* - 12x
4x(x - 3)(x + 1)
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() Jslallx+8
(4) laxollx + 28

X alY Le-°L°u|9 lgio 5 aslsll
() Jokallx+4

= leio 3/4



(alain £7%
walall @ul=ill & sio 57‘:'().\%'50

o> lgio

4/4

Jlaall J>lg ol

() poadIx+1
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